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ECONOMICS
eI
(318)
Time : 3 Hours ] [ Maximum Marks : 100
qm ;3 U | [ qUifes : 100
Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and ‘B’.

(i) Al questions from Section ‘A’ are to be attempted.

(iii) Section B’ has got more than one option. Candidates are required to
attempt questions from one option only.

Mewr : () 39 TH-79 ° g GUE §—EUS 3 qu1 @S 4 |
(i) w@ug ‘21 & At U H TA HEAT B
(i) @UE T HUF U Mk foehed T 1 wlieqiigi 1 et Uk foreked & & Ul % S A B

SECTION-A
Qus-3A

1. What is meant by marginal revenue? When sales increase by one more unit,
total revenue increases from ¥ 1,980 to ¥ 2,500. Find marginal revenue. 2

i o § w1 AT 27 S9 faswd § U IR A gfg Bt 7, 3o mm € 1,980
¥ dgR ¥ 2,500 B SA1 g1 HH AT [T hIST |

2. If a curve is upward rising from left to right, how are the two variables related?
Give an example of an upward rising curve. 2

Ife Th 9% I8 ¥ T FW hH M g6 I 7, dl & =R fhE YRR TR 27 FW A

TS ATl J5h T Ush SeTetol SIfSta]
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3. Classify the following as fixed cost or variable cost : 2
(a) Rent on factory building
(b) Expenditure incurred on raw material
(c) Property taxes

(d) Interest on borrowed capital

frfafad &l 3= dra 319 9iEdt and # afied i
(%) W & o w1 fermE

(@) w= A W = =

(1) G-

(F) 3UR < T Ot | =

4. Define ‘stock’ and ‘flow’ concepts. 2
‘Wih qA TR STTURIN hl G faiay |

5. What is value added? What is value added if a firm’s value of output is
¥ 20,000 and intermediate consumption:is’'¥ 4,990? 2

qed g #0127 AR TH BH k I¢US W eI ¢ 20,000 QAT HEAS ITHM
¥ 4,990 T, A oI ghg F &7

6. What is mid-point of a class interval and how is it calculated? 2

forel STl W1 HeA-forg A BT § A1 Wl TUMT R Sl STt 2 ¢

7. If total fixed cost is ¥ 10,980 and production is zero, find total variable cost and
total cost. 2

Ifd FHol 3=d @ € 10,980 T AT 3G I 7, FA URad] AN qAT FA AR J1q

e |

8. What is net indirect tax? Find net indirect tax if indirect tax is ¥ 50 crores and
subsidy is equal to ¥ 29 crores. 2

fraa - =0 g 27 e wee-a 39 Fifv afe wee-a © 50 wg au

AT AT © 29 e &
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9. Give the meaning of the terms ‘market supply’ and ‘market demand’ of a
commodity. 2

fopelt aeg I ‘IR ogfd qem SR Wi wel 31 SarEe|

10. Calculate net national product at factor cost : S

¥ (in crores)

(i)  Net factor income from abroad 112
(ii) Consumption of fixed capital 43
(i) Indirect tax 22
(iv) Subsidies 18
(v) GDP at market prices 7358

A ara W ae T 3 i e i

F(Elet H)
() Tova @ um e arem o 112
(i) 3T STt BT AT 43
(iii) AT - 22
(iv) T wEmE 18
(v) ISR FHEAT R TR =] 3G 758

11. What is meant by ‘government budget? Distinguish between ‘plan’ and
‘non-plan’ expenditures of government. S

‘THE F S5 U F AMAE 87 THE & ASENE T a1 W-ASET =" H 9e
EAISI

12. What is a production possibility curve? With the help of a production possibility
curve, explain ‘growth of resources’. S

IS TIEHT d% RN BT @ IS UUIST g% i HEEdl § WEeEi il H@gtg

eSSy
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13. Write down the relation between the following : S
() NDP at mp and GDP at mp
(b) GNP at mp and NNP at fc
(c) NNP at fc and national income
(d) GVA at mp and value of output
(e) NNP at fc and NDP at fc

fafafaa & wwry fafag -
(%) R FHHal | Haa e 30ME q1 FER HEdl W Tha =9l IR
(@) SR Hmdl W Tehal TFE IATE a1 d1eF odrd R Faa a3

(M) e T R Hae T 3ee qon T o

(A1) W NR hHd W ol Jod Jhg ad1 e il qod

(¥) @A @ W Had g e qon |9ed ard W ea i 3

14. Construct a demand schedule showing ‘decrease in demand’ and draw the
corresponding diagram. S

[T H FH A M B TH AT Alicrshl wm) AT R qon ek oigEr o aAmEy

15. State any five features of economic policies before 1990-91. S

1990-91 & qd & el Hifoi i foreel uter faemwaret =1 3g@ S|

16. Draw single vertical bar chart for the following data : S
fafafiaa el @ w Fed qug foag ST -

Number of cars sold in City A

A e H g #1 T FRI g
Year Number of cars sold
s ferar &1 7T ®RI F1 GE
2008 30000
2009 50000
2010 80000
2011 100000
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17. Describe any four main features of Indian economy as a developing economy. 8

fopraefi st % €9 H WRAW ieawen Hi fRel OR e fomwarst @ aue
EiELy

18. Distinguish between ‘budget deficit’ and fiscal deficit’. Give two reasons why
fiscal deficit is a better measure than budgetary deficit. 8

‘FT "R qW TSR "Rl § 9 hifNU| TS ue, See " i 3HeT Uk
S " & 27 q1 SR AN

19. (a) Explain the steps in calculation of arithmetic mean in-frequency array by
indirect method.

(b) Give any two advantages and any two disadvantages of arithmetic mean. 8

(%) wcas fafr g gl wmofl # Al A1 1 AThed i H WY RO
ST |

(@) RO wTe o foR & U ae g el 1 3g@ it |

20. Explain any four long-term objectives of economic planning in India. 8

qRA § 3nfde e & el =aR et 32wl il =men i
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SECTION-B
Qus—d

OPTION-I
faereu—1

( Role of Agriculture and Industry in India’s Economic Development )

( T ¥ st R # H o T 6 i )

21. If a farmer produces 200 quintals of a crop on 10 hectares of land, calculate
productivity of land. 2

afe E FE 10 THRW fF W FRfl wEa w1 200 fHed oA WAt g, @ yfw A
IcATEehdl 3l TUMET I |

22. What is meant by public sector? State and .explain briefly any four problems
faced by public sector enterprises in India. 5

Hresleh &F ¥ F1 AU 87 9Rd H-HosHeh & & STl 6l el IR qHENSAT i
3g@ FINT qen 9eq o =uren Hifsu)

23. State and explain any four causes for low productivity in Indian agriculture. 8

IR HY § = Icureswar & fohdl o #Ron @1 3g@ FifS g g9ehl =amen il
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OPTION-II
faerea-11

( Population and Economic Development )

( ETEE SR enfeles forerm )

21. If the birthrate is 26 per thousand and death rate is 8 per thousand, what is
the rate of growth of population? 2

afe SHe wfd TR 26 § 91 g | ufd TR 8 B, @1 sHEEn # gfg-; w7

22. What is meant by sex ratio? What are the main reasons for low sex ratio in
India? 5

fom s @ @ sIfwym 27 wra # = fom egua @ g wnw @ 27

23. Describe the population problem in\India and elaborate any four measures
taken by the government to control population growth in India. 8

IR H S il g 1 9ui AN qon 9Ra § SHaed gfg & e % o R
T TR T TRl =R Ut i fawar # s i)
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